TS TRATCART, TTeTE, RIS
Waling Municipality, Waling, Syangja
ST TE(HET ¢) IAfwH TETT- 004

Basic Level (Class 8) Final Examination-2075

T : ¢ qUIEH : Qo0
Uy ; 3 o Marking Scheme
o - SAfemd v
(Compulsory Mathematics)
Group 'A' 10X1=10
1(a) For correct value of x°=30 .......cc.cu....... 1Mark
(b) For correct formula area of circle A = 12 ... 1 Mark
2(a) For correct x-intercept X=6.......cccceeveeverrvecceerrecveenrnenns 1 Mark
(b) For correct dir€Ction.......cccoeeevveveeceececeeeiecee e, 1 Mark
3(2) AUBZ{7,9 e e 1 Mark
(b) Mode=3 ... e 1 Mark
4(a)0.0080321=8.0321X10'6 ........................................................ 1 Mark
(D) FOr 25220 et 0.5 Mark
XZ0 e 0.5 Mark
5(a) @2-b%=(a+b)(3-D) wvevereeeeeeeee e 1 Mark
(D) X>-1 oo e 1 Mark
Group 'B' 17X2=34
6(a) FOr 2a+10+a+20=180C........ccocoeeeeerreeeeeeee e ereee s 0.5 Mark
33=1800% 300 ... s 0.5 Mark
A= 500 0.5 Mark
2D = 70%(reason) e 1 Mark
(b) FOr A.S.A. @XiOM ..cvvieiriecreiceieecte et 2 Marks
7(2) FOIr 2TI=44 .o 0.5 Mark
(ol o o OO U URURUN 0.5 Mark
FOI, Ar€a= TIT2  oooeeeeeeeeeeeeeeeeee e eee e ee et ee e eeeeennes 0.5 Mark
A Z154CM2 oot s 0.5 Mark
(b)
o O . 2 Marks

AC _AB _ BC

(C)For — = — = — e, 1 Mark
CE DE CD
X=15Cm e, 1 Mark



8(a) Area of square ABCD=12=100 ........cccecrrrrrrrrrrrercrrrrenen. 0.5 Mark
Area of Rectangle PQRS=Ixb=40 ........c.ccoceveevrrrrrecrrenrennen. 0.5 Mark
Area of Shaded part =ABD-PQRS........cccccoeevreverrrecercreenen. 1 Mark

(b)Distance Formula:

A=y =212+ (V2 = Y1)?  ceerrerereireeneseneneneseee e 1 Mark
MN=V34 ..o, 1 Mark

(€) M-N={2,4,8}...ccoeveererrrercrereerrren. 1 Mark

For correct Venn-diagram.......ccccoeceeeveeeeecveeceeennns 1 Mark

9.(a)Supposing 5X & 7X ....cccevevevvveeivenreevennnnnn..0.5 Mark

5X + 7X =600 ...ooovvrvrieiee e 0.5 Mark
X= 50 i 0.5 Mark
5x=250
7X=350 | 0.5 Mark
(b) FOr Dividing  ..coveeevveeeeeceereeeeee e 1 Mark
For Correct Answer: 105  ——= 1101001;....cccciivveeivvennvenernerennnens
(c) For Correct order .......veveeveeeecvveveennen. 0.5 Mark
For Correct Formula = (%)th M e 0.5 Mark

For Correct Median=10:12 R O S 1 Mark
10(a) 2(4%2 = 9Y?) e 0.5 Mark

2{(2x)% = (3Y) % }eseeeeeeveeecee e e e 0.5 Mark

2(2X4+3Y) (2X-3Y) coreerreereeeeeeerecee s 1 Mark
(D) FOI XY2™3 oo, 1 Mark

1 x

=xy - or ; ...................................... 1 Mark

() FOr 2x +3=35 ..ot 0.5 Mark
2X=32 e 0.5 Mark
X=16 oo 1 Mark
25x33

(d) For —o g i, 0.5 Mark

252X332 s 1 Mark

8X3=24 . 0.5 Mark
11.(a) For Correct Formula
PI,Y) P Y)  corrreeeeeeeeee e 1 Mark

A-3,4) — A, 1 Mark



(b) 3x[247 & X[3 e 1 Mark
For Number Line .....ccccceevvvveneevereeeveeenenne. 1 Mark

Group'C'
12. interior angle= "= x180°
X

- §X180°
= 1080 | e ee e 1 Mark

13. For Correct Figer ....covvniniinvnneciieieennn 1 Mark
For Tabulation & measurement ........ccccceeveivvveecreccvvennen.. 2 Marks
For Correct Conclusion ........cccoeveeeevereeseeeinennnn. 1 Mark

14. For transforming point

P(3,2) 9Q° P(2,-3) e 1 Mark
Q(5,2) QN2,-5) oo 1 Mark

R(3,-2) 3 G2 ) I 1 Mark
FOr Graph ottt ettt et e eraenes 1 Mark
15. For Cubing on bothside

(a +§)3 =a3+%+3a% (a+%) ...................................... 2 Marks

1
53 a3 = A BX5 e 1 Mark

a3

\/§+2X\/§+2 V3-2 X\/§—2

Tzt Baa T aaz A 5o e
Wi+2) " Wi-2)"
(V3)2-(2)2  (V3)2-(2)?

14 e 1 Mark

17. M2-25=(M+5)(M=-5) wovreceerereee s 1 Mark

mM2-9M+20=(mM-5)(M-4) wooovorrooeeeeeeer. 2 Marks
For Correct HCF=(M-=-5) .ccocvvviviiiiiiee e 1 Mark

x+1-x+1 2
T (-1 (x+1)  x2+1
2 2
x2-1 x2+1
2x242+2x%2-2
(x2-1)(x2+1)

14X4=56



o 1 Mark
4x*-1
19. For Tabulating €9™(i) «..covvevverevriiieceiirieireeens 1 Mark
For Tabulating €q™(ii) ..ceeveeveeveseseee e, 1 Mark
For Graph .....ceveeveieccceccnieeen, 1 Mark
For Correct point of intersection (5,3) ....ccoceveeveeevevieene e 1 Mark
20. For upper part V1=IXDXN=6XAX3=T2CM3 oo 1.5 Marks
For lower part v,= IXbXh=6X3X3=54CM> oot 1.5 Marks
Total Volume of solid=v1:V2=72+54=126Cm> ce.vveevvesereeee oo, 1 Mark
21.
Men Days | 1 Mark
200 30
X(let) 40
x 30
T T e ———————— 1 Mark
200 40
X=150 e 1 Mark
O3 THATEY G0 ST ..o 1 Mark
. 3
22 Discount amount=——s X 1600 = 48 ... 1 Mark
3
For P.A.D.=1600-E X 1600=1552 ..., 1 Mark
Vat Amount=V% of PAD
222 X 1552220176 oo 1 Mark
100 1
S.P. With VAT=1552+E X1552 = 1753.76 e 1 Mark
23.S5.1.=120
R=2%
T=3years
P 2 e et et ettt 1 Mark
1X100
FOr FOrmMUIG Pamm et st st e s 1 Mark
TXR
120X100
D T titereererenreernesnsnsensenseienstenesnntenenetanesestenenentare senenstsnssnnes 1 Mark
3X2
= RS. 2000 ..uiiieeieeieeirei e eee et ens 1 Mark
24.
X f fx
5 6 30
10 3 30
15 6 90
20 7 140
25 4 100




|30 | 4 120

N=30, XIFXZ510 1uuieirreniiiirieeniteeeeeesic e erses s se s ess et eseseeneeresreone 2 Marks
 Xfx 510
ML EAN ()= T o T e ettt ettt ne 1 Mark
N 30
07 e e et et e e e ete e reseraeeens 1Mark

25. For Correct Venn-diagram

U
100 A B
0000 XEXF50X ceeeeeee ettt et e e et e steeae e ese et e e ea s 1Mark
D31 O TR 1Mark
NO.(B)Z50-10240 «.ee v eeeeeeeeeeeeeeeeses e eeseessesesseseeesseeseseseeseesseeees e 1Mark

Note: Alternative method can also be used to solve above Questions.

***W***



